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Section : Reasoning Ability

Q1 e e oo ww Reedt # F, 50 fesT & g w S AR & o d gt & wed dge R
& &

A 1 3 gt gEmTe Rwm Temat wr oua ¥
X 2 I gsfr ST AwE EaTsT & ST 2
X o g s e
X o I melr FEAC, HEAAT AT FAA €

Question ID : 99836724692
Status : Answered
Chosen Option : 3

Q.2 3 14 9fx kg T < T fhEE #F T 20 9fd kg AT A A eEh BEE F 15 kg F W IEL W
fremar = & afomd ReoT 7 e 718 9fy kg @ T T 14 9 kg el = fr A fr e
Erwd

Ans ‘_’91' 75 kg
< 2.6.5 kg
X 3 9.5 kg

X+ 8 kg

Question ID : 99836724699
Status : Answered
Chosen Option : 3

¥ ERRT Beeat # ¥ RyR/saeET AeeT # g
Ans 31 TRP

X2 ZXV

X s GEC

v 4 MLJ

Question ID : 99836724703
Status : Answered
Chosen Option : 4
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225 1 18; - : |
Ans X' 1.324 : 18

V2 256 : 17

#3196 : 13

<4216 : 15

Question ID : 99836724689
Status : Answered
Chosen Option : 1

Q.5 ﬁﬁ?ﬁgs;a:rtrﬁ?ua?fgv,mrﬁa@,'Hmaama%a;rm%ﬂmga;rmr#mm%?
Ans < 1. =T

X2 oS
v o R
X 4 ger

Question ID : 99836724701
Status : Answered
Chosen Option : 3

Q.6 The numbers of boys in a class are 4 times the number of girls. Which one of the following numbers represents the total
number of students in the class?

Ans  of 1. 65
< 2 66
<354
< 4 56

Question ID : 99836724695
Status : Answered
Chosen Option : 1

Q.7 Hariisa graduare with 1% class and has secured 65% marks in the selection test. He has been working as a marketing

officer for the last 2 years. He was born on 20t July 1990.

Ans ' 1 The candidate is to be selected

/5 2. The case is to be referred to the GM., Recruitment.

53

The case is to be referred to the Chairman, Recruitment committee.

/< 4. The candidate is not to be selected

Question ID : 99836724697
Status : Answered
Chosen Option : 3

Q.8 Ina class of students, 6 students can speak Hindi, 15 can speak English and 6 can speak French. In that class, none can
speak any other language. If 2 students in the class can speak only two languages and one student can speak all the 3
languages, then how many students are there in the class?

Ans x‘]. 24
X2 26



Question ID : 99836724702
Status : Answered
Chosen Option : 4
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Question ID : 99836724690
Status : Answered
Chosen Option : 4

Q10 e orv Reredt & ¥ 38 ReT &1 g H S & M Ay Fr oo BT &

Ans

Question ID : 99836724694
Status : Answered
Chosen Option : 3
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Question ID : 99836724693
Status : Answered
Chosen Option : 2

G2 & o wefy & drh @t #r TEr TE ST

/\

Ans X112
v 11
X310
X4 9

Question ID : 99836724700
Status : Answered
Chosen Option : 4

Q.13 Out of the four given alternatives, choose the most appropriate description about the given three words:

Aquarinm : Aviary : Apiary
Ans 3 1. These are terms related to fish
#< 2. These are terms related to wild animals
« 3. These are terms related to animal’s keeping place

75 4 These are terms related to instruments

Question ID : 99836724691
Status : Answered
Chosen Option : 3
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Question ID : 99836724698
Status : Answered
Chosen Option : 2
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Question ID : 99836724696
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 What is ‘the method of growing plants by using a mineral nutrient solution in water solvent instead of soil’ called?

Ans

« 1. Hydroponics
< 2. Aviculture
< 3. Silviculture




75 4. Pisciculture

Question ID : 99836724715
Status : Answered
Chosen Option : 1

Q.2 g #r T TR (LT fhere FfEe) AW N F I daw F e @ e
gger Afger F & A IEw F 3= a7 3hhg &= o §

Ans x1qat_q_l€r
v 2 S TH e
X 3. gfferm 17
4. ToT=AT SUETETS

Question ID : 99836724705
Status : Answered
Chosen Option : 2

Q3 HufE w7 @ T W, I F oF T Q-G S F AECER AT FOOF TR [T 7T & SR YEHT
& FAT W B

As o e o
v 2 gRifaRTREE SRa
X 3 SrEtfaRTfas fatoT snheRr
X 4 ortfaefaes et

Question ID : 99836724712
Status : Answered
Chosen Option : 3

@4 In Orissa the stone cutters of Puri work mainly in

Ans 1. Marble
« 2 Soapstone
#< 8 Granite
/< 4. Quartz

Question ID : 99836724713
Status : Answered
Chosen Option : 1

Q5 What is the Ames test used for?
Ans X 1. To measure nuclear radiation in an area

/< 2. To diagnose heart condition in a patient
7% 3. To test the physical strength of the subject

« 4 To estimate the carcinogenic potential of a chemical

Question ID : 99836724716
Status : Answered
Chosen Option : 1

Q.6



HEE, 9T ¥ A @ # TeTH 9 § 6N 50 e F TF ARET AT F FE Ageaqor

Teier ¥, 3t @R #r v gEe R §

Ans x1_
Fae et ganT e N AR Tearur TsEa® a9 & 3T FeEd W W A
52
fw aiffiss agant & ar] F 3R vE ey aiffe Rerur & e w5
W3
A g 7 4 o 3k WeR = T 5=
r
ofFT wemar & = 9 3R F9ar fr =T ¥ AT AT ST+
Question ID : 99836724710
Status : Answered
Chosen Option : 3
Q.7 ozt mardr & S i e el o S A o aled # ofr o off, W R arm #

Ans
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Question ID : 99836724707
Status : Answered
Chosen Option : 4

Q8 G & @ B 5 3w, 2019 # faed dF wHE F 1347 3eTEr AT A2

A X1 gieE &1 Sefes
v 2 2faE T A
X 3. 3 e e
< 4 oier Sedifacs
Question ID : 99836724717
Status : Answered
Chosen Option : 3
¥ ymg F FwEEm # siea oA ==fFa 9fer 91 km &
Ans X 1. 392
< 2 362
v 3 382
X 4 372
Question ID : 99836724706
Status : Answered
Chosen Option : 4
Q10 gy Ffu= & 3ER, TWER F A7 309 @ & e, 3R FEeE ¥

Ans
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Question ID : 99836724704
Status : Answered
Chosen Option : 3

Q.11 What is the process in which metals are extracted from their ores by heating beyond the melting point?

Ans 1. Froth Flotation
+ 2. Smelting

#< 3. Reduction
/< 4. Electrolysis

Question ID : 99836724714
Status : Answered
Chosen Option : 2

Q12 345 2019 % 390 AAFR F HFAN, FYFA TT TEA & FgrA=T Pl §2

Ans XK1 oftfreT SteweT
X 2 FJr AT
v's.dmilﬁiﬂ'

X 4 & Hr-FHT

Question ID : 99836724718
Status : Answered
Chosen Option : 3
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Question ID : 99836724711
Status : Answered
Chosen Option : 2
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Question ID : 99836724709
Status : Answered
Chosen Option : 4
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Question ID : 99836724708
Status : Answered
Chosen Option : 2

Section : Teaching Aptitude

Q.1 Inorder to ensure that students of upper primary attain standards and capabilities in art education, there must be ample
opportunities for them to art.

Ans X 1. observe
/< 2. analyse
v 3 create
< 4. evaluate

Question ID : 99836724738
Status : Answered
Chosen Option : 3

Q.2 Ip the discovery approach of teaching. the most important learning outcome is
Ans 3¢ 1. manipulation
o 2. conceptual understanding

/< 3. reinforcement
/< 4 memorisation

Question ID : 99836724735
Status : Answered
Chosen Option : 2

Q3 1n any language, 75% of the language is expressed through .
Ans o 1. gestures and facial expressions
7< 2. correct grammar

/< 3. vocabulary

/< 4. pronunciation

Question ID : 99836724730
Status : Answered



l Chosen Option : 4

Q4 Who said the following?

“Literature paints what history depicts.”
Ans X 1. Mahatma Gandhi

+ 2. Rabindranath Tagore

X 3. Jiddu Krishnamurti

/< 4. Sarvepalli Radhakrishnan

Question ID : 99836724731
Status : Answered
Chosen Option : 2
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Question ID : 99836724732
Status : Answered
Chosen Option : 4

Q.6 According to the draft of the National Educational Policy 2016, increased attention is needed to high quality vocational

training to address the concern of

Ans 5 1. enrolment into these colleges

+ 2. social acceptability of these courses
/< 3. dropout rate in these colleges

/< 4. equality issues for students studying these courses

Question ID : 99836724724
Status : Answered
Chosen Option : 4

Q.7 Integrating gender perspectives in a classroom discussion enables boys to

Ans X 1. debate with the teacher
/< 2. promote their own self esteem

75 3. debate with girls

« 4. do away with their own prejudices

Question ID : 99836724734
Status : Answered
Chosen Option : 4
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Question ID : 99836724737
Status : Answered
Chosen Option : 2

Q9 oEi® __ gee W ¥ H9H NEIE F IHE0T F dgaT a0 § A 9
Ans x1_ mﬁ_

X 2. gorETemer #

r g} Fﬂﬁm

v 4 FETT % SR

Question ID : 99836724728
Status : Answered
Chosen Option : 4

W RrfRfEE & @ FF T T&T Ther R F TEeARA ¥ S5 87

Ans

v IO Fr SR ETH T4

X 2 ST FT WATTSE FATAT

X 3 FaeR Fus Tsfta &

X4 g==F & HARE TEIAT F FFE FaT

Question ID : 99836724733
Status : Answered
Chosen Option : 4

Q1 1p which of the following forms of art does a textbook come alive?

Ans

#< 1. Dance
W 2. Theatre
< 3. Craft
/< 4. Painting

Question ID : 99836724736
Status : Answered
Chosen Option : 4

Q.12 1998 & T~ sreuas aT TREE (NCTE) 1 e & orar ar o eves TRESe oy 3y Jgeaqor

Ans
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Question ID : 99836724722
Status : Answered
Chosen Option : 4

Q.13 As per NCERT, the appropriate age at which a child develops problem solving skills is

Ans

.8
52
X 3.
v

+2 years
+3 years
+1 years

~+4 years

Question ID : 99836724720
Status : Answered
Chosen Option : 2

Q.14 As per the research and philosophy of Jean Piaget, the basis of learning in a child’s early years is

Ans 3¢ 1. enjoyment

v 2. play
< 3 art

7< 4. expression

Question ID : 99836724719
Status : Answered
Chosen Option : 4

Q15 The social environment of a child’s home greatly influences his/her

Ans % 1. physical development

+ 2. personality development

/< 3. creative development

< 4. aesthetic development

Question ID : 99836724721
Status : Answered
Chosen Option : 2

Q16 gor F, 9T AleT FHFIET FT ITAT ZarT =& B ST "@ear ¥
Ans

v . ggor @ifeE o

X 2 omiifier §T ¥ &7 o
X s gRzarfag orEr

X4 mrafaes =9 o ST e

Question ID : 99836724726
Status : Answered
Chosen Option : 4




Q.17 Ina collaborative learning environment, effective language acquisition can take place when there are ample
opportunities for

Ans 1. written communication
7% 2. verbal communication
/< 3. analytical communication

« 4 interpersonal communication

Question ID : 99836724727
Status : Answered
Chosen Option : 4

Q.18 The Right of Children to Free and Compulsory Education (RTE) Act, 2009 applies to children between the ages of

Ans  of 1. 6— 14 years
/< 2. 0—6 years
75 3. 14 — 35 years
75 4. 6— 18 years

Question ID : 99836724723
Status : Answered
Chosen Option :1

Q.19 The biggest challenge faced by the current educational system in India is

Ans 5 1. corporal punishment

' 2. equity in education

/< 3. global warming

#< 4. inclusive education

Question ID : 99836724725
Status : Answered
Chosen Option : 2

Q20 :Any time, any place, any subject’ is an emerging theme of
Ans

75 1. E-learning
/% 2. Home tutoring
« ° Distance learning

/< 4. Online learning

Question ID : 99836724729
Status : Answered
Chosen Option : 1

Section : Subject Knowledge

Q1 af 3R Fefira e @ et Fafafad § & i gw ad <1 @ da TE @ 82
Ans X 11540 - A B G5

25 2.1535 - R ®1 UaA
75 3.1530 - A BTG5

o 41531 - TR A g




Question ID : 99836724777
Status : Answered
Chosen Option : 3

Q.2 frafafEd &3 o a1 esu wua givamn § fRa T8 22
Ans X 1 fharyd

25 2. g
75 3. Sart
o 430

Question ID : 99836724739
Status : Answered
Chosen Option : 1

Q3 fFofafEd & @ 5 Jeaet & Fua 99 & qRarl W 95 WY Uke frg 32
Ans x1§mﬁrﬁﬂ

75 2.5 Bfeaw

W 3 A @R

P R

Question ID : 99836724832
Status : Answered
Chosen Option : 1

Q4 FgfifEd A fea g (Qgs-3=) &1 981 471 4 A9 78 I5a1 82
Ans X 1. g arfee e - sate-u- R

25 2. foram arrelt - el

X 3. R ) - R I

o 4. T T - T PG

Question ID : 99836724792
Status : Answered
Chosen Option : 3

Q.5 Which of the following persons sent a message to llitutmish seeking an alliance
against the Mongols?

Ans ?(F 1. Yalduz
f 2. Jalaluddin Mangbarani
?{ 3. Nasir-ud-Din Qabacha

#5 4. Bakhtiyar Khalj

Question ID : 99836724775
Status : Answered
Chosen Option : 3

Q.6 A BT F R FA F e # Gl | 31 G2 1| & 91y g1 ©U § A @ ad dveq

BT IgT B
= | el
a. dd 1. ATH @RI
b. sehTel 2. Hdalfeish To1Ed & TR A P fShaTel
c. Felhull 3. oo Rfecas
d. SOIRGR 4, FHed-elled egTqHT



Ans  off 1 a3 b4 c1,d-2
5 2.a4,b-3,c1, d-2
5 3.a-3,b-1,c2, d-4
/5 4.a-2,b-4,c1,d3

Question ID : 99836724782
Status : Answered
Chosen Option : 2

Q.7 FHEW $ FATETEIG TR B 391 foeda $12
Ans X 1 faaifd

25 2. JAMfd orT
25 3. T
W 4 R8T

Question ID : 99836724755
Status : Answered
Chosen Option : 4

Q.8 HAfHT Al (1842) F IR & Fafifad & & #1991 $y= 9@ 78 82
Ans X 1 {3 &) STed S TRC I o aifergfed SR aimaet e

2X 2. 9 5 1 e widiar 1y /e & forg R gl
W 3. TRRE B 9 & Tt Rl & oo 3 & iR fag e A
25 4. I PR A BRI & €0 BT SR F gard R e

Question ID : 99836724837
Status : Answered
Chosen Option : 3

Q9 FHfafEd # § o1 |1 au-gw (FRersi 3R sl & dt wfyewe - af) et
Al 81 @ 87

Ans X" 1. TerETs &1 I - 1782
of 2 PR - 1785
Z5 3. arsTid &1 gHe - 1779
25 4. SR 3O - 1802

Question ID : 99836724800
Status : Answered
Chosen Option : 2

Q.10 Which of the following concepts holds that reality is very complex and has multiple
aspects?

Ans x 1. Atman
X 2. Brahman

J 3. Anekantavada

75 4. Sunyata

Question ID : 99836724749
Status : Answered
Chosen Option : 4

Q.11 Who among the following was the founder of Poona Satyashodhak Samaj?
Ans  of 1. Jyotiba Phule

X 2. Mahadev Govind Ranade



/% 3. Bal Gangadhar Tilak

X 4. Ramakrishna Gopal Bhandarkar

Question ID : 99836724812
Status : Answered
Chosen Option : 2

Q.12 = & @ 9 1 9y Tieg HerHue) 31 G el T e 82

Ans

25 1. SR e
X 2. 7RIay

25 3. wirad @
4 Rafem

Question ID : 99836724742
Status : Answered
Chosen Option : 4

Q.13 Which of the following statements about Harappan script is NOT true?

Ans

( 1. The longest specimen of writing has 30 signs.

X 2. Harappan script is logo-syllabic, that is, each symbol stood for a word or syllable.

X 3. There are few instances available of this script being written from left to right.

x 4. It was generally written and meant to be read from right to left.

Question ID : 99836724741
Status : Answered
Chosen Option : 3

25 1. 3rdf, 9w, 3, of, wy
25 2. Afe, T, ordf, Ty, ST
o 3. o, A, T, Wy, s
25 4.9, oafq, sf, Afe, T

Question ID : 99836724743
Status : Answered
Chosen Option : 3

Q.15 Which of the following institutions conferred tribunician and proconsular powers upon

Roman emperors?

x 1. Comitia Curiata
x 2. Comitia Centuriata

#% 3. Concilium Plebis

J 4. Senate

Question ID : 99836724827
Status : Answered
Chosen Option : 3

Q.16 Dahsala, or the ten-year rates, were proclaimed in the year:

Ans

of 1.1579
52,1571
75 3.1566
5 4.1562

Q.14 TEToYe! ®1 qd A ufdm 3 3R € v T 32
Ans
Ans




Question ID : 99836724786
Status : Answered
Chosen Option : 2

Q.17 fafafEa & d 5w e e o QiR gt g9t &) g U1?

Ans X 1. s/eEUTE
25 2. e fgaa
W 3.0 R
X 4 FHRUT

Question ID : 99836724774
Status : Answered
Chosen Option : 4

Q.18 g@aﬁf&r&n&ﬁ%ﬁaﬁ@am&ﬁﬁﬁﬁmﬁa@amﬁ%ﬁm%mﬁmm
?

Ans x 1. e
25 2. sfg-g=t
/X 3. srgi-AmT
W 4. oftre-agwe

Question ID : 99836724748
Status : Answered
Chosen Option : 3

Q.19 QRIS qefTa & a5y °g fore a1 37 U412
Ans Jmn@sw

X 2.9

5 3. dmR

X 4. 71gH

Question ID : 99836724773
Status : Answered
Chosen Option : 2

Q.20 Which of the following members of the constituent assembly termed the inclusion of
the prohibition of alcohol as the directive principle of state an interference with the

religious rights of the most ancient people of country?
Ans & 1. Mahavir Tyagi

75 2. A. V. Thakkar
o 3. Jaipal Singh
£ 4.H. J. Khandekar

Question ID : 99836724821
Status : Answered
Chosen Option : 1

Q.21 Which of the following is an example of the first octagonal tomb?

Ans X" 1. Tomb of Iitutmish
#5 2. Tomb of Alauddin Khilji
J 3. Tomb of Magbul Telangani

75 4. Tomb of Balban

Question ID : 99836724796




Status : Answered
Chosen Option : 1

Q.22 References to which of the following places in the Mesopotamian literature might have
intended Harappan civilisation?

Ans X" 1 Marhashi

X 2. Makan
Z< 3. Dilmun
o 4. Meluhha

Question ID : 99836724740
Status : Answered
Chosen Option : 1

Q.23 rrgerel A Fafufed & & 69 sara o1 fFmfor foar ur?
Ans o 1 TR AfeTe, SR

25 2. <l &1 HpaR, ST
X 3. arexe AfeE, aER
5 4. Tl Oféde, faech

Question ID : 99836724798
Status : Answered
Chosen Option : 4

Q.24 w9 fafeae =1 Rremsi & ufa snefigar & foe Fafafea d 3 5 srar fear mar a2
Ans X 1 SReY SN

W 2. 55"
25 3. Riam SaHRen
25 4. U AqBID!

Question ID : 99836724834
Status : Answered
Chosen Option : 2

Q.25 Which of the following was the designation used for provincial governors in Gupta
empire?

Ans & 1 Kumaramatya
o 2 Uparika
x 3. Ayuktaka

x 4. Visayapati

Question ID : 99836724757
Status : Answered
Chosen Option : 1

Q.26 YR PR AT 1858 & iffam & IR # Fafif@a & & o9 sy g 76 32
Ans  off 1. UYRd WBR B tied § Te 7Y WHRT 3T iear siftrg ot Saura % g v
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Question ID : 99836724811
Status : Answered
Chosen Option : 4

Q.27 Which of the following caused a devastating scarcity of labour in Western Europe?
Ans X" 1. Social unrest

x 2. Crusades
x 3. The 100-years war

o 4. The black death

Question ID : 99836724831
Status : Answered
Chosen Option : 4

Q.28 fmfufad & A fa areres WoT A e TfRal & Jara- &t <0 fr afe e &
faTe o Tt 71 @t 39T e ¥ fBar 5 Wt 872

Ans  of 1 yaEa i
25 2. Jaa i
X 3. furfad

25 4. Ry

Question ID : 99836724765
Status : Answered
Chosen Option : 3

Q.29 Which of the following was an Alvar saint?

Ans X 1. Akka-Mahadevi

/5 2.LalDe

x 3. Karaikkal Ammaiyar

o 4. Andal

Question ID : 99836724789
Status : Answered
Chosen Option : 3

Q.30 Which of the following were believers of a philosophy of predetermination?
Ans & 4. Lokayatas

X 2. Charvakas
of 3 Ajivikas

?(F 4. Jainas

Question ID : 99836724746
Status : Answered
Chosen Option : 3

Q.31 Prafufad & & B9 1 3y qafia § fdees 7t-eiie) germTd) ¥ o
favs gu I SRidIY & a1 § garar 872

Ans  of 1 farEeEm
< 2. TETHTS
X< 3. TR
/X 4. sRiiIEEE

Question ID : 99836724753
Status : Answered



l

Chosen Option : 1

Q.32 %ﬁ@aﬁﬁmﬁm%mwmaﬁgﬂaﬁﬁamﬁ%mwﬁiﬁﬁm
?

Ans

of 1. IR siiER
ZX 2. LS
5 3. <L veRH
25 4. 13 & ey

Question ID : 99836724820
Status : Answered
Chosen Option : 2

Q.33 fgfafea o @ feam uladl g sMq-fafew wa 5+ sfean Amme as o

Ans

W 1. arenE AR
75 2. gy R
25 3. WY TR T

S 4. e 9%

Question ID : 99836724815
Status : Answered
Chosen Option : 1

Q.34 Which of the following texts mentions 10 kinds of union between a man and a woman?

Ans x 1. Apastamba Grhyasitra

J 2. Vinaya Pitaka

x 3. Vasistha Dharmasatra

x 4. Baudhayana Dharmasdtra

Question ID : 99836724760
Status : Answered
Chosen Option : 2

Q.35 fufafed gmi w AR &Y (ger-ad):

Ans

1. fafew $w 3T Hu=i gRT Hard & @IT - 1640
2. iR $w $f$ar Hu gRT I8 W ol -1746
3. 3 & fore wg @) ggTelt - 1750

SURIE H | P16 L HE &1 | Ael 61 @Ia1 82
o ¥ s
K 2.19R2
75 3. a1
p

Question ID : 99836724801
Status : Answered
Chosen Option : 2

Q.36 famferfEd & & 19 a1 yxmafe U s fafeaw Sfew & wefta T8 82

Ans

F UGk

25 2. 9 g1 & IHeH & Hey H S wfgdr & fafrae xvil 31 wiefa
25 3. i Sfere foma & uRdi Rigt R SRl &1 9w

o 4. =Rl S 3 aler

Question ID : 99836724807




Status : Answered
Chosen Option : 3

Q.37 The term ‘balutedar’ is used to denote which of the following social categories?
Ans X 1. Money lenders

x 2. Traders
x 3. Labourers

J 4. Service people

Question ID : 99836724784
Status : Answered
Chosen Option : 1

Q.38 fgferfed & ¥ &9 1 aw ey $fear vae & uraur= & 78 412
Ans X 1 YRd WHR B! TP Ta-R-oRe 3R IG&! SR & 3refi= Ta@m m o

25 2. URA H UgE Yoo 3 fRgfaadl § $1e ot Wiela &) snaggdmar ugdt A
o 3. TR B B YR el & S sraTe % Ay ik faar S A
5 4. PIC T STEYaeY ¥ S ¥ 3ifie Afad 1S ST Hid &I RIFARG $ TS|

Question ID : 99836724816
Status : Answered
Chosen Option : 3

Q.39 F1et ARt IR rsfie T grT forf@a & srgfre Afpw) gt ar |
yerTRrd forar T am

Ans & 11847
5 2.1849
/5 3.1846
o 4 1848

Question ID : 99836724836
Status : Answered
Chosen Option : 4

Q.40 frgfifRa ¥ / o1 9w fidia 3 ot @2
Ans  of 1 TuTacI

2 2. gaedt

£5 3. pARGr

X 4 pm

Question ID : 99836724756
Status : Answered
Chosen Option : 3

Q.41 TRTaaRY sgiaw ¥ I # Fafafaa sy ® R a8

1. 9% U & 93 7, e wid 3R 7w wid & SAfresi=r UrT & 9=1 fsar war am
2. Yf¥ I HHETT & 61U WY FU 4 6 A, O aeiie! Fu 9 e-fewier (@1
QAgH) FT STaT HeT ST AT
3. ISR BT YITAT BT 19 TSI BT Argfes et B safemra e it ave
@A 7 g A
IR § 19 Y9 81 21872

Ans  off 1 13iR2

5 2.13R3
5 3.23R3



5 4.%aq 3

Question ID : 99836724806
Status : Answered
Chosen Option : 1

Q.42 fgfafea ¥ A fFa gl Td 7 9ged-3d-gelg B SAURUN & f&are v@ ugd far?
Ans X" 1. T 3isg PR

W 2. 33 3EHe WA

25 3. firetf weteR SH-u-Smt

5 4 i dR

Question ID : 99836724788
Status : Answered
Chosen Option : 2

Q.43 FTds # YT I #t gfe F fe Fafafe & @ 919 @1 ore rder =8 a2
Ans X' 1. PN IdTET § gUR

o 2. 3ifie s )

25 3. g = ATE W FRE: Soe SR S

5 4. SR ATy

Question ID : 99836724835
Status : Answered
Chosen Option : 2

Q.44 = § A 31 91 9y RAwferes & fRua 91 T RIsRieda @Y 91d ear 82
Ans o 1 TETURFSIYT

25 2. gERE™

/< 3. uRfRwuda

X 4. Fifiaud

Question ID : 99836724750
Status : Answered
Chosen Option : 3

Q.45 Which of the following was the Chairman of the drafting committee of Constituent
Assembly?

Ans &4 K. M. Munshi

o 2.B. R Ambedkar

75 3.B.N.Rau

/5 4.S.N. Mukherjee

Question ID : 99836724823
Status : Answered
Chosen Option : 2

Q.46 FiSiaT & 5 & 3l ofk WwiRiRit A1aif A T gk & favs frw adf o i <fe
Ans  of 1 1760

/5 2.1748

53,1749

5 4.1763

[ Question ID : 99836724802



Status : Answered
Chosen Option : 1

Q.47 e vma IS R R 93

1. i @=
2. @Iga @H
3. paars @H

P A1 fawed ITF TE) Hrargw s w9 ST ufaffia sar 82
ns X' 1.2,31
2213
503.3,1,2
541,23

Question ID : 99836724830
Status : Answered
Chosen Option : 4

Q.48 Wmﬁmm%mmﬁ%ﬁqmwmqﬁ%mmmv

25 1. ge P
K 2. 95T
W 3 T
25 4. forret

Question ID : 99836724783
Status : Answered
Chosen Option : 2

Q.49 Which of the following terms implied a habitat of those regarded as outside the
boundaries of caste?

25 1. Pall
o 2. Cheri
25 3. Puram
5 4. Patti

Question ID : 99836724767
Status : Answered
Chosen Option : 4

Q.50 YR & Tazdl U # Fefifed sigem! w R o3:

1. faamea siiee
2. 3HGYUNT 3figie
3. 3Idic IRIE

IR Aiea-l BT gt PITHHIIR HH ¢
ns  X'1.1,23
K02.3,2,1
3312
K 41,32

Question ID : 99836724817
Status : Answered
Chosen Option : 4

Q.51 fgfafed # | & Iae 7 759 & YR A IF Tg TR THSHR JoHTadT fHar?
ns  of 1 Foc feda




5 2. gReiea fgdia
£5 3.7
25 4. X el

Question ID : 99836724771
Status : Answered
Chosen Option : 3

Q.52 During Akbar’s period, diwan-i-bayutat was the in-charge of which of the following?
Ans & 1. Mint

J 2. Karkhanas
X 3. Grain market

x 4. Revenue collection

Question ID : 99836724785
Status : Answered
Chosen Option : 2

Q.53 g A | fpw fagm &1 faaR & 5 STeror Jera &1 sRidy Wi ArITsa & ua &1 1R

1?2
Ans B 1 M UTIR

25 2. & @ gt
/X 3. Ta A, gl
W 4. e T

Question ID : 99836724752
Status : Answered
Chosen Option : 4

victims in the purusamedha sacrifice?
Ans X 1. Taittiriya Aranyaka
J 2. Vajasaneyl Samhita
X 3. Atharvaveda

?‘: 4. Satapatha Brahmana

Question ID : 99836724759
Status : Answered
Chosen Option : 4

Q.55 graT WG PT Hay fraffae f5a &= & ur?
Ans x 1. Ry

o 2. tu

X 3. TRNTE

X 4. ma

Question ID : 99836724787
Status : Answered
Chosen Option : 3

Q.56 Wﬁﬁﬁwﬁ,mwﬁﬁ%%m, YR FHTS BT Terdt § IRTT B
?

Ans & 1 fiorf ¢ TesR
W 2 A

Q.54 Which of the following texts gives a long list of crafts and occupations in the list of



< 3. T
X 4. SHFY

Question ID : 99836724762
Status : Answered

Chosen Option : 1

Q.57 91d MR faae F IR A FAufafed sy= w far a3:

1. 3T TS 3T Hae forer 1 THAA fbar 3R 37 &1 @) 3ireite=r o1 ol 3 @

& AW | 59T faRry i
2. 31 993 & 4 a1 & w1y Gud ReRa w39 & v i)
3. I IRTE B gHHI BT ARYfed U=AT F W feram)

IR FYA1 A A B9 91 T 81 27872
Ans  of 1 Fad 1
5 2.23R3
3182
5 4,939 3
Question ID : 99836724814
Status : Answered
Chosen Option : 4
Q.58 famfafad # @ 1 9¢f &1 e oo 82
Ans X" 1 TeymTerT
X 2. Tema
W 3. A3 T- A
72X 4. fSrl-g-ygwTaae
Question ID : 99836724791
Status : Answered
Chosen Option : 3
Q.59 NFHRR AW F IR # Fufleaa & & #1991 $Y9 T T8 82
Ans  of 1 TR H id S TARTS Teil &1 T T J U A Gobel! oA
25 2. T8 T & SR TR § Uell 31 U H IS RIF W G A1 919 $T $1g gael
Tgad foham S bt AT
25 3. Hi o arell {6 ueh/mfee &1 o & | o Y Hd et A
£5 4. Bac fqarfed afad &) st 3y U & wry fordlt a9 o Tor o9 e ol
Question ID : 99836724758
Status : Answered
Chosen Option : 1
Q.60 fgferRad cafeaal & 9 fram wfgemsit & forw 3mRervr & ver & faem gur & ara &t A2
Ans  of 1 3R . Ayl
< 2. g A
25 3. ST ¥ Tga
X< 4
Question ID : 99836724822
Status : Answered
Chosen Option : 2

Q.61 Which of the following statements about the implementation of the ‘doctrine of lapse’




is true?

Ans x 1. Third group consisted of ‘independent’ states. Their rulers were allowed to adopt
heirs, but only with the prior consent of the Company.

J 2. Dalhousie classified the Indian states into three different groups.
x 3. The firsts group was composed of states that he regarded to be the creation of the
British government. Their rulers were left free to make their own decisions.

x 4. ‘Tributary and subordinate’ states formed the second group. The ‘doctrine of lapse’
was applied most vigorously to this group of states.

Question ID : 99836724805
Status : Answered
Chosen Option : 2

Q.62 fufafEd ol ¥ I3 T ve R R #¥ (3rFaR ST ymEE Sur - au):

1. 3f¥rew / R &t FHgfaa- 1574
2. @oltar & A g & & (@8R | SATRIEIE a%) B @ - 1576
3. SRR THS eIip-I-Heal & Siaiid Y &1 THg - 1580

IR A | DI G TG &1 & A7 T8 @aT ¢ / WM 872
Ans X" 1 13R3
75 2.%aq 2
of 3. Faa3
p

Question ID : 99836724731
Status : Answered
Chosen Option : 1

Q.63 HRd P AfAUTT T B} gt o FafafEa 7 & fea ot =1 smaifea 1 1 @2
Ans  of 1 ofER 1946

#5226 TSR 1949

75 3. 22 S 1947

7X 4.13 fedisR 1946

Question ID : 99836724819
Status : Answered
Chosen Option : 2

Q.64 fgftifed & & 59 I & ta Bier, e s At 82
Ans " 4 HefieT

X 2.0
5 3. TRA

Vv 4.

Question ID : 99836724768
Status : Answered
Chosen Option : 1

Q.65 Bivas WP P TRITS DI 4?2
Ans  of 1 gy g §E

25 2. 5T USHT AR

25 3. FHAR gy

27X 4. o g 39

[ Question ID : 99836724818



Status : Answered
Chosen Option : 1

Q.66 Who among the following is considered as the ‘father of permanent settlement’?

Ans

X 1. Warren Hastings
X 2. Charles Cornwallis
X 3. John Shore

o 4. Philips Francis

Question ID : 99836724804
Status : Answered
Chosen Option : 1

Q.67 Which of the following rulers built a coalition against the ruler of Ghazni, Alp-Tegin?

Ans

75 1. Bhimadeva
X 2. Anandapala
X 3. Kamaluka

J 4. Jayapala

Question ID : 99836724769
Status : Answered
Chosen Option : 2

Q.68 Which of the following items was NOT imported by Sumerians from Iranian Plateau?

Ans

#5 1. Chlorite

5 2. Lapis Lazuli

o 3. Wheat

X 4. Turquoise

Question ID : 99836724825
Status : Answered
Chosen Option : 4

Q.69 fuferad & ¥ B9 |1 g (ArETfTS-afie igies- nfafafy we) weét & 3 aa T8t

Ans

a1 8?

25 1. T AR SHiere - oRTd
o2 e el et - e
25 3. WIS FOGTART HT - SR
25 4. TienTsT wifefd® 9 - Haddl

Question ID : 99836724813
Status : Answered
Chosen Option : 3

Q.70 ffafead & & fow gra arezms A fafer e faferw v & forg rwwiea o o1 s ga

Ans

frgea fear ut?

7< 1. wETgR e fehg
V 2. s s i
75 3. T8 e fadh
75 4. gewe s fgeda

Question ID : 99836724810
Status : Answered
Chosen Option : 3




Q.71 Consider the following statements about Meiji Revolution:
1. It was a revolution from the below.
2. The slogans of the revolutions had a traditionalist tone.
3. The powers of the emperor were restored.

Which of the above statements is/are true?

25 1.1and3
W 2.2and3
5 3. 1only
25 4.1and2

Ans

Question ID : 99836724838
Status : Answered
Chosen Option : 4

Q.72 fgfafea & A fra afe 3 vdfs et @) ar dufy ot § e fear 22
25 1. diftrgrew

5 2.3

o 3. S

X 4. sy

Ans

Question ID : 99836724826
Status : Answered
Chosen Option : 3

Q.73 HERIY & Jwidt HfF 9 T wa Faff@a d d o 972
Ans x 1. TIg &aTd

W 2. T

75 3. TyarEr

25 4.9

Question ID : 99836724790
Status : Answered
Chosen Option : 2

Q.74 FgfafEd & A feae G wa, S aodl, gal e $t Tw7a-a7g W i ord @

Sgfel & g Fordt 3o &t 3 & forg ymefor ame A2
p R
< 2 e

X 3.fm
o 4o

Ans

Question ID : 99836724766
Status : Answered
Chosen Option : 1

Q.75 TF & TG &A1Y TuY F IR FIUR $T AS DI UT?
25 1. XRarA

75 2. srafaada
25 3. Twara
v 4 fo

Ans

Question ID : 99836724770
Status : Answered




l Chosen Option : 2

Q.76 fuferfad # 3 & et srpeRi & forw a1l & FH-A1a 3 JR&m &1 YR Y12
Ans X 1 FHITIH

< 2. wrfarg
25 3. dier

o 4 e

Chosen Option : 4

Question ID : 99836724761
Status : Answered

Q.77 fg<fta W1e1 g5 & IR & FAufrfad 3= w faar #3:

1. 3% & HUN gRT AST AT GIRT WRIST Yo URTATSH Bl 3R [ T, FOrd Uzt &

PR fafraT & fGeme 38 WRTsTsi faRy ) 2id S & o1 /= simar Tl

%wﬁmwﬁw%wummaﬁaﬁgaﬁﬂwm HUH B
gaml

3. - Y # fafewr sriRmrevll @) wraw a1 T, Afe 58 A HRd 3R

ISTRIT | geT forar |

SRIaT B A A i 91 faawor 9t 882

Ans ("1 13IR2
X 2,133
W 3 Faa 1
5 4,939 3

Chosen Option : 1

Question ID : 99836724799
Status : Answered

Q.78 WdE WETSHYE! A ATY & I F Way & e & @ $19 91 Sy 9 T8 82
Ans o 1 75T % TST A Ty B 4 % U P g T3 B et offd of ot
5 2. Y A TR A TR &y Ryl iR A ) foran o e 39 forg i R
A B T T
5 3. 39@1 g SR 9 S O efad w0 9 sifimgardial @ A fam o

25 4. Ty B UAie TIgfre GeAT &t SUTSdl : IUSTS, g, 9% 9 Ud WaH |

Chosen Option : 1

Question ID : 99836724744
Status : Answered

Q.79 fmfafEd & w19 v sy ur?
Ans  off 1 SR Sewdt
25 2. act g
25 3. il gewe Ywt e
S 4 dRTEER

Chosen Option : 4

Question ID : 99836724794
Status : Answered

Q.80 In which year the envoy of the Caliph of Baghdad reached Delhi with a formal letter of
investiture for litutmish?

Ans X" 11210

52,1206



W 31229
7541236

Question ID : 99836724776
Status : Answered
Chosen Option : 3

Q.81 5y gra qTeRNE A S B §¢ AT HU H1 a8 W B 9 fan, e 39
3000 ¥U4 & qTffer YA & 95 Y[eP Yad ATIR $I rgafa 2

Ans x1_ag|§qm-|g
75 2. 3018 e
7< 3. VElerR I
o 2 wreE REr

Question ID : 99836724803
Status : Answered
Chosen Option : 2

Q.82 = # § {5 3o & ury Ifar &t Sufy A7
Ans x 1. Y1 g

/5 2. mEIeH
W 3. ffsEr
< 4. 3Ry

Question ID : 99836724745
Status : Answered

Chosen Option : 1

Q.83 3R B IUAIGIIER B 3T I F R FufaRag d § fey safe 3 wwemeT
YHUT Hd UG Heg 412

Ans K 1. g
X 299
X 3

o 4 i

Question ID : 99836724751
Status : Answered
Chosen Option : 2

Q.84 The first use of true double dome in India is attested to which of the following
buildings?

Ans 3" 1. Humayun’s Tomb
o 2. Sikandar Lodi’'s Tomb
x 3. Mausoleum of Babur

x 4. Mausoleum of Sher Shah

Question ID : 99836724795
Status : Answered
Chosen Option : 1

Q.85 T HTE & GRT AR T&XN & Frafea & a1 § Frafifld § § F19 & vu= 7@ T8 32
Ans X" 1. g5 githaT faHTT &1 U ol

5 2,397 guTe 31 Fygfaa & forg Swiieart & vegd faan

X 3.7 & ot I siftreTival @t Fgfaat & wry-ary it udEfodl & A e et



BB ok |
W 4. 35 gg F I B GogafRud B 1 ey |

Question ID : 99836724780
Status : Answered
Chosen Option : 2

Q.86

Ans

fFPrafafEa & @ #149 dion &1 te $3« aes U1?
#< 1. meEl
£ 2. 3FR
72X 3. wEhiR
o 4. e

Question ID : 99836724793
Status : Answered
Chosen Option : 4

Q.87 Which of the following periods in the history of Mesopotamia is regarded as the era of

Ans

primary state formation?
x 1. Sammaran Period

W 2. Uruk Period
#% 3. Halafian Period
#% 4. Al-Ubaid Period

Question ID : 99836724824
Status : Answered
Chosen Option : 4

Q.88 FYIftre T F Frafafed ey trgifea e @ aigur-faRid sidieq & gdeu

Ans

F FaR affa forar mar 82
25 1. BISRIa Sifs fg AR (1512-1517)

W 2. FERIT 30T < (1545-63)
5 3. PIIRT Sifth HIcy (1414-18)
/< 4. PR it Afea (1869-70)

Question ID : 99836724833
Status : Answered
Chosen Option : 2

Q.89 Fafafed vy vy & gad ygan faavor el ug @ Wafta 39 arnfore wag & ord o

Ans

forerar &, o o7 & SMYR R R ¥0 F 3@’ 7M1 Ft foigr 1 78 A2
o 1. o i
25 2. SIS Y
2 3.7 e
25 4. Tiam yrigm

Question ID : 99836724763
Status : Answered
Chosen Option : 1

Q.90 YR W 3T B & R HeHg = Frafafea & & 5w ara &1 wext= =8 far u1?

Ans

25 1. P YSUAR 1 F A SigieH BT
£5 2. 96 SIR IeH BT HIGT FII
o 3. TRl Tt 3 o Bt e i




5 4. T & GRA! & AT ARG g D8 B el BT HIGHT BT

Question ID : 99836724772
Status : Answered
Chosen Option : 3

Q.91 Eﬁ%ﬁﬁﬁﬁﬂwﬁum%%m@aﬁ%ﬁi&mﬁmﬁﬁmuﬂuw
u1?

Ans o 1 ToEdiaefa
< 2. et
25 3. My
25 4. TR IR 1 o

Question ID : 99836724764
Status : Answered
Chosen Option : 2

Q.92 HigT ST ATS Ferae H faft g sARal # Fufafed el 7 @ faae wmeee &
R WA Tt A wft?

Ans J1_G|g%ﬁq
75 2. FR
X 3 g
< 4. gl

Question ID : 99836724797
Status : Answered
Chosen Option : 1

Q.93 3nyfe URdg sfaerr & FaffEa fagrt A @ e 1857 & siigiaq ¥ SR amftor
fogie ” o T8 fhar 22

Ans X 1. a3
W 2. A FaR
X 3. Re RS
< 4. T EESt

Question ID : 99836724808
Status : Answered
Chosen Option : 2

Q.94 FeR-39-ggr @1 FrafrfEa & & B it Rrder 78 o2
Ans  off 1 TIEA & TS P FIRI FIAT 3R IT REHR F o Ry |

75 2.9 fagHi, $IR SHSIR 9 &1 Fafg vl vad o3|
5 3. R IS R H Pl df Fgad Tl
2K 4. 7o oY 2R A1 Ufd S & U SR e & fawa & warg 3

Question ID : 99836724779
Status : Answered
Chosen Option : 4

Q.95 Which of the following scholars has opined that unease of the agrarian society was
one of the principal causes of the revolt of 18577

Ans X" 1 Richard Holmes
/5 2.H. G. Kene
o 3. Ranjit Guha



#5 4. John W. Kaye

Question ID : 99836724809
Status : Answered
Chosen Option : 3

Q.96 Which of the following Islamic practices was reminiscent of a Syrian Christian
practice?

25 1. Hajj

X 2. Sawm
o 3. salat
5 4. Zakat

Ans

Question ID : 99836724828
Status : Answered
Chosen Option : 4

Q.97 fmfafEa & @ fFamt 1187 ¥ g1ifaw R e $t I 3t FAuifas w0 g
W 1. Fa

X 2. Rrge

/X 3. R-sre-dH

25 4. 30 3rdlg

Ans

Question ID : 99836724829
Status : Answered
Chosen Option : 1

Q.98 fogffad & @ I 91 JY T Yomelt TR MYTRd T ad 872
25 1. TERETE

o 2. taRrsifae

25 3. TR

75 4. opTTRS

Ans

Question ID : 99836724754
Status : Answered
Chosen Option : 2

Q.99 Ffeied # & e sfeeeRr A Rl & Jer ard Risia 35 smeren 3t §2
25 1P T e

X 2. S g
X 3. 3y
o 4 Ted T

Ans

Question ID : 99836724778
Status : Answered
Chosen Option : 3

Q.100 Which of the following propagated materialist doctrine called annihilationism
(uchchhedavada)?

Ans X" 1. Pakudha Katyayana
X 2. Purana Kassapa
o 3. Ajita Keshakambalin

75 4. Makkhali Gosala




Question ID : 99836724747
Status : Answered
Chosen Option : 2

Section : Language Competency Test

Q1

Ans

Fill in the blank with the most appropriate antonym of the underlined word in the sentence:

Some drivers disregard rules and indulge in rash driving while others are very
#< 1. confident
« 2. cautious
#< 3. callous

7% 4. conscientious

Question ID : 99836724848
Status : Answered
Chosen Option : 2

Q.2

Ans

Select the most appropriate synonym of the given word:

EMANCIPATION
/< 1. repulsion
W 2. liberty

/< 3. compulsion

/< 4. oppression

Question ID : 99836724846
Status : Answered
Chosen Option : 3

Q3

Ans

Select the correct sentence structure:

F 8

No sooner did the bird saw the worm when it flew away with it.

52

No sooner did the bird see the worm but it fly away with it.

V3

No seoner did the bird see the worm than it flew away with it.

r

No sooner did the bird had seen the worm it flies away with it.

Question ID : 99836724845
Status : Answered
Chosen Option : 3

Q4

Ans

Select the most appropriate meaning of the given idiom:

to cool one’s heels

/< 1. to dip the feet in cold water
/< 2. to feel very fresh
/< 3. to feel very tired



« 4 to wait for a very long time

Question ID : 99836724839
Status : Answered
Chosen Option : 1

Q5 gealect the correct sentence structure:
Ans (1. Mother gently on the bed laid the baby.

« 2. Mother laid the baby gently on the bed.
/< 3. The baby gently laid Mother on the bed.
/< 4. The baby on the bed gently Mother laid.

Question ID : 99836724844
Status : Answered
Chosen Option : 2

Q.6  Fill in the blank with the most appropriate antonym of the underlined word in the sentence:

The  colours of the painting became dull with the passage of time.
Ans X1 tarnished
v 2. vivid
/< 3. frigid
#< 4. faded

Question ID : 99836724849
Status : Answered
Chosen Option : 4

Q.7  Fill in the blank with the most appropriate word:

I was not able to my friend’s phone number even after my best efforts.

Ans  of 1. recollect

/< 2. predict
/< 3. reproduce

/X 4 pertain

Question ID : 99836724841
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate option to fill in the blank.

Turn left the end of the street and the school will be vour right.

Ans X' 1. at, in
/< 2. on, at
« 3. at. on

/< 4. in, on

Question ID : 99836724851
Status : Answered
Chosen Option : 3




Q.9

Ans

Select the most appropriate option to fill in the blank.

I congratulated Monika her success.

J1. on
X2 in
< 3 at
X 4 to
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Q10 Select the most appropriate synonym of the given word:

Ans

REPEAL
« ' revoke
7% 2. endorse

/< 3. confirm
/< 4. ratify
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Qn

Ans

Select the most appropriate option to fill in the blank:

He was very confident before his performance, ?

#< 1. was he
< 2. hasn’t he
X 3. wasn't it
v 4 wasn’t he
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Q.12

Ans

Select the most appropriate option to fill in the blank.

He didn’t believe T said.
#< 1. the

#< 2. which

< 3. for

v 4 what
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Q.13



Identify the segment in the sentence which contains the grammatical error:

Very little people attended the inauguration of the new community centre.

Ans 1. community centre

W 2. Very little people
#< 3. attended the
/< 4. inauguration of the
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Q14 Select the wrongly spelt word:

Ans X 1. arrogant
< 2. awkward
' 3. abundent
/< 4. accomplish
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Q15 gSelect the most appropriate option to fill in the blank.

All girls and boys must carry

Ans X 1. theirs
W 2. their
25 3. your
& 4 our

sweaters with them on the trek.
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Ans

X 1. aEm

& 2. greTer
PSR 1y
4 T

™

8 ooy Rrmer TTEETEY 32
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U7 g ST FEAERTE T ¥ 99 ¥ 9o E

A K1 s=orde
X2 faerards




v o FTEmfEETas
X 4 rdeTeRs
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Q.18 JeT ¥ T S
Ars 1. PRremETE, 9ETE
< 2. 39, g
/< 3. 9IETUT, JFAT
X 4. 9TSTOT, 39
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e e qEAT Y w7 oA

Ans

X 1. EOEE ST W Ter FAT
XZ. HTAkR r."l\'-hlrl HT ATAT

v 3 3mmers ROt &7 e
X 4 TS G HT AT
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VX rearTET T TS Wi - e E
Ans 5 1. #Te] + HTEITHA

7 2 e + HETHA

< 5 AT + HETHA

V4 His] + HETHAA
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A2 el @ AeE T
Ans x1_ O

X 2 FAA

v o R

25 4. clTe

=]
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a7 g R, g e s
Ars o 1 e RRNUT 3aeT

X 2 g=r 3uaey

23 f9wuT I9areT

X 4 gIATH 39T
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¥ zmaw @ o TAw ReE i
A o1 gtE 9T e

X 2 ogr §ER e

X o grEr AHR §EaR

X4 mE 7 gEr
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9% nterview’ T TREY a7 &
Ans x.]. = @'ﬁ:‘ﬂ
2 et
v 5. giearar
X4 am-Taaer
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A% ooy Sigl w=e & AR qur A d° T R SR R

Ans

.(1.:9':_13?313:1
X 2 OIS T
Xs.zqga%rmfr

X 4 T FET
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% ¢ icense’ F TE=EY I
Ans x1_ 'I-'E’I?-I‘I:EH
X 2. 3arfeq



Ko gaeg
v 4 HTAT
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V7 g F gormETr T
Ans x1_ Bﬁ-, e
v 2 FUZ®, TET

™

X 5. TIET, FER

7< 4 ATel, &gl
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Q.28

‘AT’ & [SEH e &
Ans XT 3-1'['9:191?-’1%
X 2 q3a9q

VAR Cir 1
< 4 Fior
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